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1) A topic sentence is a complete sentence; that is, it contains at least one subject and one

+ verb
=>» A topic sentence contains at least one subject and one verb. (Lecture 2)
2) A topic sentence is the most general in the paragraph.

+ statement
=>» A topic sentence is the most general statement in the Paragraph. (Lecture 2)
3) Driving on highways requires skill and alertness. The topic is
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+ Driving on high ways.
=>» "Driving on freeways requires skill and alertness.", the topic is "Driving on freeways". (Lecture 2)
4) The rise of Hollywood films is due to several factors. The controlling idea is
+ several factors
=>» "The rise of indie films is due to several factors.", the controlling idea is "several factors". (Lecture 2)

=

*£5) French has been influenced by other languages. This sentence is

ﬁ + too general

'_:‘,' =>» Is "English has been influenced by other languages.", a topic language? Why? No. It is too general. (Lecture
2 2

@)6) Not to mention mad cow disease. This sentence is

i * Incomplete

% =>» /s "Is made of green cheese.", a good topic sentence? Why? No. Incomplete sentence. (Lecture 2)
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7) Many cultures interpret rainbows in positive ways. This sentence is
+_best topic sentence
=> Is "People hold many superstitious [44/ 3] beliefs about the moon.", a good topic sentence? Yes. (Lecture 2)
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8) Supporting sentences explain or prove the
+ topic sentence
=» Supporting sentences explain or prove the topic sentence. (Lecture 3)
9) A concluding sentence is not needed for every in a multi-paragraph essay.
¢ paragraph
=>» a concluding sentence is not needed for every paragraph in a multi-paragraph essay. (Lecture 3)

10) __ means that a paragraph discusses one and only one main idea from beginning to end.
* Unity
=> Unity [¢2> #J] means that a paragraph discusses one and only one main idea from beginning to end. (Lecture
4)
11) The easiest way to achieve is to repeat key nouns frequently in your paragraph.
+ cohesion

=>» The easiest way to achieve coherence isto repeat key nouns frequently in your paragraph. (Lecture 4)
12) Words such as (another, additional), and (because of, in spite of) can serve as
+ transition signals
=>» Words such as adjectives (another, additional).can'serve as: Transition signals. (Lecture 5)
=>» Words such as prepositions (because of, in spite of).can serve as: Transition signals. (Lecture 5)
13) Words such as (and, but) are considered to be
+ coordinators
=>» Coordinating conjunctions, like: and (additional idea), but (opposite idea or contrast), yet (opposite idea or
contrast), or (choice or alternative). (Lecture 5)
=>» Coordinators = Coordinating conjunctions.
14) The word "still" is an example of
+ conjunctive adverbs
=>» Conjunctive adverbs, like: furthermore (additional idea), moreover (additional idea), besides (additional
idea), also (additional idea), too (additional idea), however (opposite idea or contrast), nevertheless
(opposite idea or contrast), instead (opposite idea or contrast), still (opposite idea or contrast), nonetheless
(opposite idea or contrast), otherwise (choice or alternative), that is (restatement or explanation), therefore
(result), consequently (result), hence (result), thus (result). (Lecture 5)
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‘£ 15) The word "in brief" is an example of

ﬁ + transition phrases.

'_:‘,' =» Transition phrases, like: in addition (additional idea), on the other hand (opposite idea), in contrast

-g (opposite idea), in fact (restatement or explanation), indeed (restatement or explanation), first, second,
® third (list in order), next, last, finally (list in order), for example (example), for instance (example), clearly
iy (conclusion or summary), in brief (conclusion or summary), in conclusion (conclusion or.summary), indeed
% (conclusion or summary), in short (conclusion or summary), in summary (conclusion or summary);

E accordingly (result), as a result (result), as a consequence (result). (Lecture 5)

16) A subordinator is the first word in
+ adependent clause




=>» A subordinator (subordinating conjunction) is the first word in a dependent clause. (Lecture 6)
17) In addition to increased competition, the lack of competent management caused to company’s
bankruptcy. The word "in addition to" is
+.-a preposition
=> Subordinators include prepositions, like: in addition to. (Lecture 6)
18) Chronological order, logical division of ideas, and comparison/contrast are some common kinds of
order in English.
+ |ogical
=>» Some common kinds of logical order in English are: Chronological [—<_] order. Logical division of ideas.
Comparison [J84q/contrast [_xl24]. (Lecture 6)
19) In a logical division of ideas, a is divided into parts, and each part is discussed separately.
+ topic
=>» In logical division of ideas, a topic is divided into parts, and each part is discussed separately. (Lecture 7)
20) Opinions are based on a person’s beliefs or attitudes.
+ subjective statements
=>» Opinions are subjective statements based on a person's beliefs or attitudes. (Lecture 8)
21) Identity theft is increasing at a rapid pace. This sentence is an example of

+ fact
=> "Identity theft is increasing at a rapid pace [§ _tis £L3].", is: Fact needs proof. (Lecture 9)
22) When you use quotation, summarization and paraphrasing you are inserting into your own
writing.

+ outside information
=>» There are three ways to insert outside information into your own writing: You can quote it. You can
summarize it. You can paraphrase [4lus 32l jt. (Lecture 8)
23) One way to avoid is to always put quotation marks around words that you copy exactly.
+ plagiarism
=» One way to avoid plagiarism is to always put quotation marks around words that you copy exactly. (Lecture

9)
24) Works cited is a list describing all your completely.
+ sources
=>» The list that describing all your sources completely and appears as the last page of your paper, is titled
works cited.

‘= 25) In a direct quotation, you copy another person’s exact words (spoken or written) and enclose them in
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+ quotation marks
=>» In a direct quotation, you copy another person's exact words (spoken or written) and enclose them in
quotation marks. (Lecture 9)
26) The reporting phrase does not appear in the middle.
+ according to
=>» The reporting phrase (according to) doesn’t appear in the middle of borrowed information. (Lecture 9)

...":: 27) reporting verb may cause changes in verbs, pronouns, and time expressions in an indirect
©  quotation.

I~

= + past tense

3 = A past tense reporting verb may cause changes in verbs, pronouns, and time expressions in an indirect
L2

é; quotation. (Lecture 9)

- 28) are sometimes called reported speech.

E + Indirect quotation

-"; =» Indirect guotations are sometimes called reported speech. (Lecture 10)

= 29) Like quotations, are good supporting details.

+ statistics
=>» The kinds of specific supporting details: Examples. Statistics. Quotations. (Lecture 3)
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30) in the introduction are to attract your readers' attention.
+ General statements
=>» General statements are to: Attract your reader's attention. (Lecture 11)
31) and the repetition of key nouns link the paragraphs into a cohesive whole.
+ Transition signals
=>» Transition signals and the repetition of key nouns link the paragraphs into a cohesive whole. (Lecture 11)
32) The thesis statement may indicate the pattern of of the essay.
* organization
=>» Sometimes a thesis statement also indicates the pattern of organization that the essay will follow. (Lecture
12)
33) The thesis statement is the most important sentence in the
+ introduction
=>» The thesis statement is the most important sentence in the introduction. (Lecture 12)
34) In order to explain causes, reasons, types, lands, qualities, methods, advantages, and disadvantages, we

use .
+ logical division
=>» Logical division is an appropriate pattern for explaining causes, reasons, types, lands, qualities, methods,
advantages, and disadvantages. (Lecture 12)
35) (both ... and, not only ... but also) are called
+ coordinators
=» Coordinators [<liwial], include: Coordinating [+« conjunctions [«ih=ll <5 a]. Correlative [»> (paired)

conjunctions.
=>» Correlative (paired) conjunctions, like: both ... and, not only ... but also, neither ... or, whether ... or. (Lecture
5)
36) The conclusion is your opportunity to convey a strong, effective __ that your reader will remember.
+ message

=» The conclusion (the concluding paragraph) is your epportunity to convey a strong, effective message that
your reader will remember. (Lecture 12)
37) numerals 1, 2, 3, 4, and so on number the subpoints in each paragraph.
+ Arabic
=>» Arabic numerals 1,2,3,4, and so on number the subpoints in each paragraph. (Lecture 12)
38) The suitable expressions for order are: the process of, the procedure for, plan, develop, evolve,
five stages, and several phases.
+ time
=>» Expressions such as (the process of, the procedure for, plan, develop, evolve, five stages), and several
phases indicate that time order will be used. (Lecture 13)

39) Use chronological order for essays (stories, history, biography, and autobiography) and for
process essays (how to do or make something).
+ narrative

=> We use chronological order to tell stories, to relate historical events, and to write biographies [ L5/l 3 sl
Al u=id] and autobiographies [Luasil 5 wid], (Lecture 13)

=>» We use chronological order to explain processes and procedures.

=>» We use chronological order to explain processes and procedures.

=>» In chronological order discuss the steps in your process in the order in which they occur.
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40) In essay, you discuss the cause (reasons) for something, the effects (results);-or both the causes
and effects.

+ acause and effect

=> In a cause [<x-]/ effect [4x:1] essay, you discuss the causes (reasons) for something, the effects (results), or
both causes and effects. (Lecture 14)




41) The purpose of a transition paragraph is to conclude one section and another section.
¢ introduce
=» Block organization purpose is to conclude one section and introduce another section.
=>» Block organization is called a transition paragraph. (Lecture 14)
42) A is usually easier if the causes and effects are very closely interrelated.
+ chain pattern
=>» A chain pattern is usually easier if the causes and effects are very closely interrelated. (Lecture 14)
43) Little is known about life on the ocean floor, for scientists have only recently developed the technology to
explore it. The sentence that states the cause is:
+ ‘"scientists have only recently developed the technology to explore it."
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=>» "The computer is a learning tool since it helps children to master math and language skills.", the part of the
sentence that states a cause, is: "it helps children to master math and language skills" (Lecture 14)
44) His patient diplomacy resulted in the successful negotiation of a peace treaty. The sentence that states the
effect is:
+ the successful negotiation of a peace treaty.
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=>» "The cost of gasoline is rising; as a result, some automobile manufacturers have begun to produce electric
models.", the part of the sentence that states an effect, is: "some automobile manufacturers have begun to
produce electric models”. (Lecture 14)
45) Chain organization usually works better than block organization when the are too closely linked
to be separated.
+ cause and effects
=>» Chain organization usually works better than block organization when the causes and effects are too closely
linked to be separated. (Lecture 14)
is a group of related sentences.
+ A paragraph.
=>» A paragraph is a group of related sentences. (Lecture 1)
% 47) Paragraph discusses
£+ usually only one main idea
E =>» A paragraph is a group of related sentences that discuss usually only one main idea. (Lecture 1)
48) We mark a paragraph by indenting the first word about a half .
+ inch
= We mark a paragraph by indenting the first word about a half inch from the left margin. (Lecture 1)
49) All paragraphs have a topic
+ sentence
=> All paragraphs have a topic sentence and supporting sentence, and some paragraphs also have a
concluding sentence. (Lecture 1)
50) The sentence signals the end of the paragraphs and leaves the reader with important points to
remember.
+ concluding
=>» The concluding sentence signals the end of paragraph. (Lecture 1)
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